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QUESTION 1

You must locate the next good record header in a Logdump file. How should you do this?
A. Logdump >SCANFORGHDR

B. Logdump > GHDR ON

C. Logdump > SCANFORENDTRANS

D. Logdump > SCANFORHEADER

Correct Answer: D

Reference: https://docs.oracle.com/goldengate/c1230/gg-winux/GLOGD/using-logdumputility. htm#GLOGD108

QUESTION 2

With BATCHSQLenabled, what causes a Replicat to use normal mode operation?
A. statements with rows between 8k and 24k in length

B. when BATCHSQLand GROUPTRANSOPScoexist

C. statements which cause errors

D. when server memory

Correct Answer: B

Reference: https://docs.oracle.com/goldengate/1212/gg-winux/GWURF/ gg_parameters011.htm#GWURF404

QUESTION 3

You are running multiple installations of Oracle GoldenGate on the same Windows server. How can you differentiate the
different Manager services?

A. Create a GLOBALS file for each installation and use the MGRSERVNAMEparameter, with a unique name.
B. Include the parameter SERVICENAME in each Manager, with a unique name.

C. Accept the default service name and manually edit within the Services applet.

D. Multiple Manager services are not allowed on the same Windows server.

Correct Answer: A

Reference: http://www.dba-oracle.com/t_goldengate_parameter_files.htm
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QUESTION 4

Which combination of DBMS, Extract, and GoldenGate version is required to avoid using a DDL trigger?
A. Oracle Database 11.2.0.3 or greater, Integrated Extract, and GoldenGate 12.1 or greater

B. any version of Oracle Database, Integrated Extract, and GoldenGate 11.2 or greater

C. Oracle Database 11.2.0.4 or greater, Integrated Extract, and GoldenGate 12.1 or greater

D. Oracle Database 12c or greater, Integrated Extract, and GoldenGate 11.2 or greater

Correct Answer: C

QUESTION 5

You want to generate an extract file or trail in a non-GoldenGate canonical format like those used in the Initial Load file-
to—database utility. How should you configure GoldenGate in order to accomplish this?

A. Configure Replicat with the FORMATASCII SQLLOADER OPTION.
B. Configure Extract with the FORMATSQL SQLLOADER OPTION.
C. Configure Extract with the FORMATASCII SQLLOADER OPTION.
D. Configure Replicat with the FORMATXML OPTION.

Correct Answer: C

Reference: https://docs.oracle.com/goldengate/1212/gg-winux/GWUAD/wu_initsync.htm#GWUAD546
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